
3. INDEFINITE INTEGRATION 

I. MCQ (2marks) 

Q1) ∫
√tan 𝑥

sin 𝑥 cos 𝑥
𝑑𝑥 =... 

        a)
1

2
√tan𝑥 +  𝑐                    b) 2√tan𝑥 +  𝑐  

        c) √2 tan 𝑥 +  𝑐                  d) 
1

√2tan𝑥
+  𝑐  

Q2)∫
1

√𝑥+ √𝑥3
𝑑𝑥 =... 

        a)2tan−1(√𝑥) +  𝑐              b)tan−1(2𝑥 − 1) +  𝑐 

        c)2tan√𝑥 +  𝑐                     d)2tan−1(𝑥) +  𝑐 

Q3)∫
1

√(𝑥−3)(𝑥−2)
𝑑𝑥 =... 

        a)
1

2
log[(2𝑥 − 1) + √𝑥2 − 𝑥 − 6] +  𝑐      b)tan−1(2𝑥 − 1) +  𝑐 

        c) log [(𝑥 −
1

2
) + √𝑥2 − 𝑥 − 6] +  𝑐         d) log [(𝑥 −

1

2
) + √𝑥2 + 𝑥 + 6] +  𝑐 

Q4)∫
1

cos 𝑥−sin 𝑥
𝑑𝑥 =... 

        a)
1

√2
log [cosec (𝑥 +

𝜋

4
) − cot (𝑥 +

𝜋

4
)] +  𝑐 

        b)√2 log [cosec (𝑥 +
𝜋

4
) + cot (𝑥 +

𝜋

4
)] +  𝑐 

        c) 
1

√2
log [sec (𝑥 +

𝜋

4
) + tan (𝑥 +

𝜋

4
)] +  𝑐 

        d) √2 log [sec (𝑥 +
𝜋

4
) − tan (𝑥 +

𝜋

4
)] +  𝑐 

Q5)∫
𝑥2

√1−𝑥6
𝑑𝑥 =...  

      a)−sin−1(𝑥3) + 𝑐                 b)cos−1(𝑥3) + 𝑐 

      c)sin−1(𝑥3) + 𝑐                    d)
1

3
sin−1(𝑥3) + 𝑐 

Q6)∫
𝑒𝑥

𝑥
[𝑥(log 𝑥)2 + 2 log 𝑥]𝑑𝑥 =... 

       a)𝑒𝑥 log 𝑥 + 𝑐                       b) 𝑒𝑥(log 𝑥)2 + 𝑐 

       c) 𝑒2𝑥 log 𝑥 + 𝑐                    d) 𝑒2𝑥(log 𝑥)2 + 𝑐 



Q7)∫√𝑥2 + 2𝑥 + 5 𝑑𝑥 =... 

       a)(𝑥 + 1)√𝑥2 + 2𝑥 + 5 + log[(𝑥 + 1) + √𝑥2 + 2𝑥 + 5] + 𝑐 

       b) (𝑥 + 2)√𝑥2 + 2𝑥 + 5 + log[(𝑥 + 2) + √𝑥2 + 2𝑥 + 5] + 𝑐 

       c) (
𝑥+2

2
)√𝑥2 + 2𝑥 + 5 + 

1

2
log[(𝑥 + 2) + √𝑥2 + 2𝑥 + 5] + 𝑐 

       d) (
𝑥+1

2
)√𝑥2 + 2𝑥 + 5 + 2log[(𝑥 + 1) + √𝑥2 + 2𝑥 + 5] + 𝑐 

Q8)If 𝑓(𝑥) =
sin−1 𝑥

√1−𝑥2
 , 𝑔(𝑥) = 𝑒sin−1 𝑥 , then ∫𝑓(𝑥)𝑔(𝑥)𝑑𝑥 =... 

       a)𝑒sin−1 𝑥(sin−1 𝑥 − 1) + 𝑐 

       b) 𝑒sin−1 𝑥(1 − sin−1 𝑥) + 𝑐 

       c) 𝑒sin−1 𝑥(sin−1 𝑥 + 1) + 𝑐 

       d) −𝑒sin−1 𝑥(sin−1 𝑥 + 1) + 𝑐 

Q9)∫
sin𝑚 𝑥

cos𝑚+2 𝑥
𝑑𝑥 =... 

       a)(𝑚 + 2) tan𝑚+1 𝑥 + 𝑐       b)
tan𝑚 𝑥

𝑚
+ 𝑐        

       c) (𝑚 + 1) tan𝑚+1 𝑥 + 𝑐      d) 
tan𝑚+1 𝑥

𝑚+1
+ 𝑐        

Q10)∫
2

√𝑥−√𝑥+3
𝑑𝑥 =... 

       a)−
2

3
[𝑥

3

2 + (𝑥 + 3)
3

2] + 𝑐      b)
2

3
[𝑥

3

2 − (𝑥 + 3)
3

2] + 𝑐 

       c)
4

9
[𝑥

3

2 − (𝑥 + 3)
3

2] + 𝑐          d)−
4

9
[𝑥

3

2 + (𝑥 + 3)
3

2] + 𝑐 

Q11)∫ cos√𝑥 𝑑𝑥 =... 

        a)2[√𝑥 sin√𝑥 + cos√𝑥] + 𝑐      b) √𝑥 sin√𝑥 + cos√𝑥 + 𝑐 

        c) 2[√𝑥 cos√𝑥 + sin√𝑥] + 𝑐     d) 
1

2
[√𝑥 sin √𝑥 − cos√𝑥] + 𝑐 

Q12)∫
2(cos2 𝑥−sin2 𝑥)

cos2 𝑥+sin2 𝑥
𝑑𝑥 =... 

        a)sin 2𝑥 + 𝑐                           b)cos 2𝑥 + 𝑐 

        c)tan 2𝑥 + 𝑐                          d)2sin 2𝑥 + 𝑐 



Q13)∫
log 𝑥

(log 𝑒𝑥)2
𝑑𝑥 =... 

        a)𝑥(1 + log 𝑥) + 𝑐                b)
𝑥

1+log 𝑥
+ 𝑐 

        c) 
1

1+log𝑥
+ 𝑐                          d)     

1

1−log 𝑥
+ 𝑐 

Q14)If ∫
1

𝑥+𝑥5
𝑑𝑥 = 𝑓(𝑥) + 𝑐 , then ∫

𝑥4

𝑥+𝑥5
𝑑𝑥 =... 

        a)𝑓(𝑥) − log 𝑥 + 𝑐                 b) 𝑓(𝑥)+log 𝑥 + 𝑐 

        c)log 𝑥 − 𝑓(𝑥) + 𝑐                 d)
1

5
𝑥5𝑓(𝑥) + 𝑐 

Q15)∫
𝑒𝑥(𝑥−1)

𝑥2
𝑑𝑥 =... 

         a)𝑥𝑒−𝑥 + 𝑐                            b)
𝑒𝑥

𝑥2
+ 𝑐 

         c)(𝑥 −
1

𝑥
) 𝑒𝑥 + 𝑐                   d)

𝑒𝑥

𝑥
+ 𝑐 

 

II. Very Short Answers ( 1 mark ) 

Q1)∫√1 + sin 2𝑥  d𝑥 

Q2) ∫
sin 4𝑥

cos2𝑥
 d𝑥 

Q3) ∫
𝑒3𝑥

𝑒3𝑥+1
 d𝑥 

Q4) ∫
1

√3𝑥2+8
 d𝑥 

Q5) ∫
log 𝑥

𝑥
 d𝑥 

Q6) ∫(2 + cot 𝑥 − cosec2 𝑥)𝑒𝑥 d𝑥 

Q7) ∫ 𝑒𝑥 [
(𝑥+3)

(𝑥+4)2
] d𝑥 

Q8) ∫
𝑒2𝑥+𝑒−2𝑥

𝑒𝑥
 d𝑥 

Q9) ∫ 𝑥𝑥(1 + log 𝑥) d𝑥 

Q10)∫
1

𝑥 sin2(log 𝑥)
𝑑𝑥 



Q11)∫√𝑥 sec(𝑥)
3

2 tan(𝑥)
3

2 𝑑𝑥 

Q12)∫
cos2𝑥

sin2 𝑥
𝑑𝑥 

Q13)∫
cos2𝑥

(sin 𝑥+cos 𝑥)2
𝑑𝑥 

Q14)∫ cot2 𝑥 𝑑𝑥 

Q15)∫
𝑥

𝑥+2
𝑑𝑥 

 

III. Short Answers ( 2 marks ) 

Q1)∫
𝑠𝑖𝑛𝑥

1+𝑠𝑖𝑛𝑥
𝑑𝑥 

Q2)∫
(2𝑥−7)

√4𝑥−1
𝑑𝑥 

Q3)∫
1

4𝑥+5𝑥−11
𝑑𝑥 

Q4)∫ 𝑒3𝑙𝑜𝑔𝑥(𝑥4 + 1)−1 𝑑𝑥 

Q5)∫
sin (𝑥−𝑎)

cos (𝑥+𝑏)
𝑑𝑥 

Q6)∫ 𝑐𝑜𝑠7𝑥 𝑑𝑥 

Q7)∫
𝑥7

(1+𝑥4)2
𝑑𝑥 

Q8)∫
1

√2𝑥2−5
𝑑𝑥 

Q9)∫
log (logx)

x
𝑑𝑥 

Q10)∫𝑥2√𝑎2 − 𝑥6 𝑑𝑥 

Q11)∫√4𝑥(4𝑥 + 4)𝑑𝑥 

Q12)∫[𝑐𝑜𝑠𝑒𝑐(𝑙𝑜𝑔𝑥)][1 − cot(𝑙𝑜𝑔𝑥)]𝑑𝑥 

Q13)∫
𝑐𝑜𝑠2𝑥

𝑠𝑖𝑛2𝑥 𝑐𝑜𝑠2𝑥
𝑑𝑥 

Q14)∫ 𝑠𝑖𝑛4𝑥 𝑐𝑜𝑠3𝑥 𝑑𝑥 

Q15)∫
𝑒𝑥log (𝑠𝑖𝑛𝑒𝑥)

𝑡𝑎𝑛𝑒𝑥
𝑑𝑥 



IV. Short answers ( 3 Marks) 

Q1)∫
1

𝑥(𝑥3−1)
𝑑𝑥 

Q2)If 𝑓′(𝑥) = 𝑥 −
3

𝑥3
 , 𝑓(1) =

11

2
 find 𝑓(𝑥) 

Q3)∫
(𝑥2+2)

𝑥2+1
𝑎𝑥+𝑡𝑎𝑛−1𝑥 𝑑𝑥 

Q4)∫
7+4𝑥+5𝑥2

(2𝑥+3)
3
2

𝑑𝑥 

Q5)∫√
9+𝑥

9−𝑥
𝑑𝑥 

Q6)∫
1

4𝑥2−20𝑥+17
𝑑𝑥 

Q7)∫
𝑠𝑖𝑛𝑥

𝑠𝑖𝑛3𝑥
𝑑𝑥 

Q8)∫
1

2+𝑐𝑜𝑠𝑥−𝑠𝑖𝑛𝑥
𝑑𝑥 

Q9)∫ 𝑠𝑒𝑐3𝑥  𝑑𝑥 

Q10)∫ sin(𝑙𝑜𝑔𝑥) 𝑑𝑥 

Q11)∫ 𝑠𝑒𝑐2𝑥√𝑡𝑎𝑛2𝑥 + 𝑡𝑎𝑛𝑥 − 7 𝑑𝑥 

Q12)∫ 𝑒𝑠𝑖𝑛−1𝑥 [
𝑥+√1−𝑥2

√1−𝑥2
] 𝑑𝑥 

Q13)∫ 𝑒𝑥 (1+𝑥2

(1+𝑥)2
 𝑑𝑥 

Q14)∫
𝑥2+𝑥−1

𝑥2+𝑥−6
 𝑑𝑥 

Q15)∫
6𝑥3+5𝑥2−7

3𝑥2−2𝑥−7
 𝑑𝑥 

 

V. Long answers ( 4 Marks) 

Q1)∫
𝑑𝑥

2+3𝑡𝑎𝑛𝑥
 

Q2)∫√𝑡𝑎𝑛𝑥 + √𝑐𝑜𝑡𝑥 𝑑𝑥 

Q3)∫
3𝑥+4

√2𝑥2+2𝑥+1
𝑑𝑥 



Q4)∫√
𝑒3𝑥−𝑒2𝑥

𝑒𝑥+1
𝑑𝑥 

Q5)∫𝑥3𝑡𝑎𝑛−1𝑥 𝑑𝑥 

Q6)∫𝑥𝑠𝑖𝑛2𝑥 𝑐𝑜𝑠5𝑥 𝑑𝑥 

Q7)∫
𝑥+𝑠𝑖𝑛𝑥

1−𝑐𝑜𝑠𝑥
𝑑𝑥 

Q8)∫
𝑥2

(𝑥2+1)(𝑥2−2)(𝑥2+3)
𝑑𝑥 

Q9)∫
𝑑𝑥

𝑥3−1
 

Q10)∫
5𝑒𝑥

(𝑒𝑥+1)(𝑒2𝑥+9)
𝑑𝑥 

Q11)∫
1

𝑠𝑖𝑛𝑥(3+2𝑐𝑜𝑠𝑥)
𝑑𝑥 

Q12)∫𝑥𝑐𝑜𝑠3𝑥  𝑑𝑥 

Q13)∫
𝑠𝑖𝑛2𝑥

3𝑠𝑖𝑛4𝑥−4𝑠𝑖𝑛2𝑥+1
𝑑𝑥 

Q14)∫
3𝑒2𝑥+5

4𝑒2𝑥−5
𝑑𝑥 

Q15)∫
(2𝑙𝑜𝑔𝑥+3)

𝑥(3𝑙𝑜𝑔𝑥+2)[(𝑙𝑜𝑔𝑥)2+1]
𝑑𝑥 

Q16)   Integrate the functions w. r. t. x 

i)  1)23( 2  xxx  

ii)  
21 xxx   

iii)   1)5( 2  xx  

iv)   1)1( 2  xxx  

v)   523)32( 2  xxx  
 

 

 

 

 

 


